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GENERAL INSTRUCTIONS IN EXAMINATION HALL

A. General : . |H

1. This Question Paper contains 80 questions. Please check |1. s wer—u & 80 e &| Ul TN I& HRT ¥ Ul i of | 39
before starting to attempt. The question paper consists Two Y- | Q1 G0 ¥ | WUS3 (qEIRe W) o wus—q (GfrT
Sections. Section-A (Conceptual Section) & Section-B Tusg) | Wue—3T #, U WA 39 UHR - 9w EE (1 ¥ 10),
(Brilliance Section). In Section-A, 5 parts, Physics (1 to 10), Sha fag (11 & 20), ERA @ (21 | 30), T (31 F 45) ,
Biology (11 to 20), Chemistry (21 to 30), Maths (31 to 45), ARG Al (46 I 60) T WoE—d H TR U 9 FBR -
Mental Ability (46 to 60) and In Section-B, 4 parts, Physics (61 A e (61 ¥ 65), S A== (66 ¥ 70), T@RA fagH (71 &
to 65), Biology (66 to 70), Chemistry (71 to 75),Maths (76 to 80). 75) 7O (76 ¥ 80)

2. Space is provided within question paper for rough work | 2. % T P B U TRE-TA A & w@E RE g e
hence no additional sheets will be provided. JfaRed w0 & #18 Me a1 IR T8 a7 g |

3. Blank paper, clipboard, log tables, calculators, cellular |53 e wpmr awh oS AR, Bodgorex Je WE TG
phones and electronic gadgets in any form are not allowed | el ' N N N N~
inside the examination hall. 0N TR B gD wle € gl

4. The answer sheet, a machine-gradable Objective | 4. SR JRa®I, sifeifees Y& fe @aRyw) o & 7=
Response Sheet (ORS), is provided separately. ERT S SIQ, 37elfT | Uae & TS g1
Do not Tamper / mutilate the ORS or this booklet. 5. NIRRT I TF—9F Bl Al N YHR J Bie—Bic 1 A T4 |
Do not break the seals of the question-paper booklet before | 6. ¥¥H—U= @I il d9 Tb =Tl ECICIRC CRG R GO RIS
instructed to do so by the invigilators. fder =81 fag @ |

7. SUBMIT the ORS to the invigilator after completing the test | 7. &1 &< 8 & 915 SNARE. e es o1 |y den
& take away the test paper with you. YU 3O ¥ o O |

8. Any student found/reported using unfair means to improve | 8. A% @I% fAenefl wien # 3w g @ forg iyl e @
his/her performance in the test, shall be disqualified from VAN RAl 9T T AT Ul gfaa fen m SICH
STaRT-2019. STaRT-2019 & forg s & |

B. How to fill Objective Response Sheet (ORS) for filling 3. Jlfesifdea wwitw e (QT'W'W') i Reow qon S S
details marking answers: T & forg 7t o W

9. Use only HB Pencil for filing the ORS. Do not use | 9. aNaRUE. WA & foU dael HB URIA &1 & WA & |
Gel/lnk/Felt pen as it might smudge the ORS. et/ /Bee U wEE T8 B |

10. Write your STaRT-2019 Student Registration No. in the | 10, sm STaRT-2019 femel WRREYE HHiF MNIRTE. M &
boxes given at the top left corner of your ORS with art BRY F R T e § N W B A U W e A
blue/black ball point pen. Also, darken the corresponding . ! y !
bubbles with HB Pencil only. PG B IFTAR M Y W el 31 @ HB Ut & o9t AR |

11. If any student does not fill his/her STaRT-2019 Student | 11- % ﬁs‘ ﬁwgﬁ 3T STaRT-2019 faeneft <Rreger waid
Registration No. correctly and properly, then his/her ORS W U9 e T A OE NRAT B Al SEB! IR, B
will not be checked/evaluated. AF/qedifdhd &1 far S |

12, Since itis not possible to erase and correct pen filled bubble, | 12 STMRTH. # &Y 7Y Mefl @I AR TF aR dfer 97§ TE
you are advised to be extremely careful while darken the foar s @ 1S9 fAerr wwa qE, swfoy femeft o@
bubble corresponding to your answer. qaear 9 & el BT TERT B |

13.  Neither try to erase / rub / scratch the option nor make the | 13, v IR 5l RAFca @ M & T F & 9 Fem A
Cross (X) mark on the option once filled. Do not scribble, lgﬁﬁ gues TS A e goR
smudge, cut, tear, or wrinkle the ORS. Do not put any stray o Al Gﬁmw de W ) . ®
marks or whitener anywhere on the ORS. ged, T A1 Rierae 7 o § IR T @ 59 A a1 b |

14.  If there is any discrepancy between the written data and the | 14 Ife fed e ¥ forRaa wd el § aifhd SR aiey ar
bubbled data in your ORS, the bubbled data will be taken as ' s -
final. T A WAl H 3ifhd TSR B & TG A SIQ |

C. Question paper format and Marking scheme : W UE-UF U9 U9 3@ yM e

15.  SECTION-A: For each right answer you will be awarded 3 | 15 w@vs—ar: 7% SR @ forg 3 & Ry WG I} | Mt &
marks if you darken the bubble corresponding to the correct a) &
answer and zero marks if no bubble is darkened. In case of TR fop | AR e et P fpw o (1) o
bubbling of incorrect answer, minus one (—1) mark will be DI S Al fpell et 1 A e T A @
awarded. 3w faar e |

16. SECTION-B: For each right answer you will be awarded 6 | 16, Wue—g: T% SR & 1T 6 P 3T ST T FL Tl B
marks if you darken the bubble corresponding to the correct TERT AT | AR T WS B TR AT W AN (=2) o
answer and zero marks if no bubble is darkened. In case of R el T @ N - N
bubbling of incorrect answer, minus two (-2) mark will be W SIS | & T dn
awarded 3 faam S |

Best of Luck

Ph.No. : 07446607777, (0744) 3012100, 3012222, 6635555 | Toll Free : 1800 258 5555 | FAX No. : +91-022-39167222 |

Resonance Eduventures Ltd.
CORPORATE / REG. OFFICE : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.) - 324005

80034 44888

Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in | CIN: U80302RJ2007PLC024029



mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx

STaRT

Student Talent Reward Test
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SECTION - A(CONCEPTUAL SECTION) 9131 @=fR& 1)
PART - | (PHYSICS) HFI-| (Wifd® fasm)

Straight Objective Type
This section contains (1-10) multiple choice questions. Each question has choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.

Y ayfrs TR
39 @ve # (1-10) 5wl v 2| s 999 & 4 fawew (A), (B), (C) @en (D) &, 5 & R &
GRS

Air is blown through a hole in a closed pipe containing liquid. Then the pressure will

(A) Increase on sides (B) Increase downwards

(C) Increase in all directions (D) Never increases

%9 9 WX 8¢ oAl 95 uigy § B9 gR1 Ay ydIlRd &1 Sl § | 99 I

(A) fPIRI R g1 B (B) fra @ 3R d@ ®

(C) w4 Tumel # el (D) ¥ 98 e ®

If the density of water is 1 g cm-3, then density of water in S.I. system is :

(A) 500 kg m-3 (B) 1000 kg m= (C) 2000 kg m™3 (D) 1500 kg m-3

I g &1 T9@ 1 TH x FH° B @ S Ug § U BT g 8
(A) 500 farn.x #iez®  (B) 1000 fdham.x ez (C) 2000 faur.x #iex3 (D) 1500 faum.x #iews

Which of the following pairs is wrong -
(A) pitch-frequency (B) loudness-Amplitude (C) quality- wave front (D) intensity-velocity

1 7 4 9 | g T B |
(A) fra—amafa (B) & wR —8ma™  (C) faRivar—a=um (D) SgaT—a7T

A 20 cm long uniform wire of resistance 5 Q is stretched to a uniform wire of 40 cm length the
resistance of wire (in Q) will be :
(A)5 (B) 10 (C)20 (D) 40

5 QUftRIg vg 20 9H. N8 & Uh IHOY IR Dl Giad) 40 9. s & 9999 g 4§ gRafda fean

T R | IR B gferig Q F B0
(A) 5 (B) 10 (C) 20 (D) 40

(a) Soft iron is a conductor of electricity.
(b) It is a magnetic material.

(c) Itis an alloy of iron.

(d) It is used for making permanent magents. State whether :

(A) aand c are true (B) a and b are true (C) cand d are true (D) b and d are true

(a) ¥ <reT fagd &1 gares B | (b) T8 T a1 B |

(c)TE <R @ fAst g 21 (d) T8 I grEE g9 H SUANT BIal & a1 9aTsy
(A)ad ca & | (B)ad bwg ¥ (C)cT duT B | (D)bad ¥ B |

A force of 4 N acts on a body of mass 40 kg for a distance of 2 m. The kinetic energy acquired by the
body is :

(A)16 J (B) 32 x 108 erg (c)8J (D) 32 erg
40 fHa. Gom™ @ 9% W 4 ed 9 2 Hiek T T Il 8 | 9% §RT YT RISl Sroft 2R
(A) 16 S (B) 32 x 108 3Rt (C)8 (D) 32 3t
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7. A body which produces sound is in the state of :
(A) translatory motion  (B) rotatory motion (C) vibration (D) rest
& fivg 1 & et ue™ dRan 8 =1 srasen & 8hm
(A) TR & i (B) o= w1fa (C) HF=Ta=eA (D) RerTazen
8. A man has five resistors each of value 1/5 Q. What is the maximum resistance he can obtain by
connecting them?
TS Afb & ™ 1/5 Q A9 & Urh gRiY 2| 896 §ale | J8 Jfftead fhas A4 &1 ufoRig ure aR
HHAT B
A)1Q (B)5Q (C)12 (D) 2/5Q
9. In the given circuit, the effective resistance between points A and C will be :
o1 uRuer # A9 C & 929 g UioRlg BIT :
2R 2R R
Aw ANVWA 5 ANV W\N\/—‘
(e}
(A) 0.5R (B)R (C)2R (D) 5R
10. The purpose of the glass sheet on the top of a box type solar cooker is to :
(A) Allow people to see the food being cooked (B) Allow more sunlight into the box
(C) Prevent dust from entering the box (D) Reduce heat loss by radiation
IFFRTFAT VR HFHR B HUR DI B ¢dhd DI I8 o—
(A) ST YT AT ST ST b (B) 9T & =R I BT THTY 3D W & ford
(C) g B i & <X o ¥ AP & fog (D) ffemy & o1t &g Ao & ford
PART - Il (BIOLOGY) %Il (Sha fasm™)
Straight Objective Type
This section contains (11-20) multiple choice questions. Each question has choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.
e axjfrs TeR
39 @ve ¥ (11-20) 9g-Raed yea 2| y@% ued & 4 fawe (A), (B), (C) don (D) g, R+ & faw
TP |8 2 |
1. Example of biosphere reserve is
(A) Madumalai. (B) Gir. (C) Nilgiri. (D) Dachigam.
frifed # | Sliavved RS &1 IS8R B—
(A) AGHeTE (B) IR (C) et (D) ferm
12. An exception to types of ecosystem is
(A) pond ecosystem. (B) aquatic ecosystem.
(C) terrestrial ecosystem (D) biotic ecosystem.
= # Q@ -1 uRRufa 73 & USRI &7 smare 8-
(A) arerrg aTRRerfaeT dF (B) STeira utRRerfaa
(C) erefra uiRRerfaast &= (D) Sia uiRRerfaa d=

/\
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All of the following are endocrine glands except

(A) Pituitary. (B) Thyroid. (C) Ovary (D) Sweat glands.
forer ¥ 9 s ofiRam Tl o T wferit & — |
(A) o ofeer GRIBNES] (C) 3vSTer™ (D) g wfrdt
All the given processes are under the direct regulation of the hormones except

(A) metabolism (B) growth (C) sexual development (D) thinking.
A &) S ufharel § 9 fede sfaRed 9t €HiE & g fHEer § 2 -

(A) UTI=RI (B) gfg (C) oiffres faara (D) |ra=T
Number of parents involved in spore formation is/are

(A) one. (B) two. (C) three. (D) four.
oty o §  fhde S/ Sdl o wweAr B dfferd fear S g —

(A) TP (B) < (C) (D) @R

Many fungi display the phenomenon of heterothallism. What is heterothallism ?
(A) Presence of different types of hyphae acting as male or female

(B) Production of different kinds of spores

(C) Presence of a net-like mycelium

(D) Ability to reproduce both sexually as well as asexually

FHID g YR geiAferd ¥ w1 acad © ?

(A) R g AIGT 3 B TG BT B ATl 37T — I TRHI DI IURATT

(B) =1 R & dISRll &1 I

(C) STifeTrT Y ATSAITerId &1 SuRIfT

(D) 3cifii® @ iffid QM1 UBR & USi=1 dl &l

A true fish is

(A) star fish (B) jelly fish (C) silver fish (D) dog fish

1 A 9 PR arafas W9 8 ?

(A) ART HF (B) et /9 (C) Rrear w1 (D) T H
Heart beat in vertebrates is -

(A) neurogenic (B) myogenic (C) (A) and (B) both (D) none of above
PYUR(HA & §SI WA HI fIewdr g ?

(A) TFDHT IeTfed (B) ueft Senfed (C) SIRIH (A) 3R (B) (D)3 & ®Ig =&l
SA node helps in -

(A) conduction of blood (B) initiation of heart beat

(C) opening of tricuspid valve (D) opening of bicuspid valve

SA gUS! el Bl o—

(A) WeR Hagd | (B) BT WSH Bl UR™ HA H

(C) Fraure @req # (D) fgwure @ #

In C, plants initial CO, fixation takes place in which chloroplast

(A) Palisade tissue chloroplast (B) Spongy mesophyll chloroplast

(C) Bundle sheath chloroplast (D) Guard cell chloroplast

uredl # uRfte CO, Rerdiaxvn 5w eReas g1 arar & —

(A) @ Had sRIaad (B) Wi Hioifher gRaeta®

(C) TaTeBeRddad (D) R ®If¥r®1 sRAcTa®
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Straight Objective Type

This section contains (21-30) multiple choice questions. Each question has choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.

€ axyfrs TR
39 @vs # (21-30) 93— ued 21 9@F U @ 4 fawe (A), (B), (C) den (D) &, o+ & R
TP HEl ¢ |
21, Which of the following is the lightest metallic element ?
(A) Mg (B) Al (C) Li (D) Mn
/1 # | P qEA Bl HIfcad d © 7
(A) Mg (B) Al (C) Li (D) Mn
22, What weight of oxygen gas will contain the same number of molecules as 56 g of nitrogen gas ?
(Atomic mass : O =16 u; N = 14u)
oo /9 @1 6 A3 | I URATY] SURT 81 7 &I 56 WM Agiod 449 H SURYT 81 & ?
[T=AT9] oA O =16 U, N = 14 U]
(A)64 g (B)46 g (C)76¢g (D)67 g
23. In an atom the shell which has a maximum two electrons is -
(A) first shell (B) second shell (C) third shell (D) fourth shell
A # | 9w e | Afedd Q1 selag i SuRerd B § 7
(A) T2 B (B) fa<ia @rwr (C) T dr=r (D) =gt Pre
24. A chemical equation is balanced in accordance with the law of -
(A) conservation of mass. (B) multiple proportion.
(C) constant proportion. (D) reciprocal proportion.
e ARG FHEI {5 e @ orgeR wwgfera B ® ?
(A) S HREAV BT | (B) Iford argurd &1 |
(C) Rer 3rgura &1 ¥ (D) gshA IUTd BT 19
25. A sample of CaCO, has Ca =40%, C = 12% and O = 48%. If the law of constant proportion is true then
the weight of Ca in 16 g of CaCO, made from different processes will be -
(A)64 g (B)0.64 g (C)64g (D)4.6¢g
CaCO, & T H Ca=40%,C=12%d O =48% 2| Il ReRr agurd &1 o9 ¥ & a1 = T
H 9 T 16 UM CaCO, ¥ dfeeryd &1 /s &1l —
(A)64 g (B)0.64 g (C)64g (D)46 g
26. The metal which cannot be stored in packets is -
(A) sodium (B) calcium (C) magnesium (D) zinc
g o Yave § wufed =781 fban o wadn 88 —
(A) arfeaH (B) dfezram (C) H=Nf¥ram (D) Riw
27. Non- metallic oxides react with water to form -
(A) acids (B) bases (C) salts (D) none of these
efead ffadss o 9 b & s9 & —
(A) 3T (B) &R (C) @@t (D) 7H | BIS I
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28. When heated, iodine changes-
(A) from solid to liquid (B) from liquid to gas  (C) from solid to vapour (D) from gas to solid
TH PR W, A uRafda gar 2—
(A)3r 9 ¥ 59 H (B)za & 9 # (C)3rg & ar9 # (D) & 3 H
29. Which of the following is a compound ?
/=1 % 9 P A € ?
(A) Carbon (&Td7) (B) Water (S7<1)
(C) Nitrogen (ATSgIoH) (D) None of these (879 ¥ ®Ig a1
30. When 5 g of calcium is burnt in 2 g of Oxygen then 7 g of calcium oxide is produced. What mass of
calcium oxide will be produced when 5 g of calcium reacts with 20 g of oxygen ?
9 5 UM BicTIH BT 2 U SRS o) IuRfT # STefd € @ 7 M Ca0 g1 &, A 5 a9 dbfesr
DI 20 UM iAo & Y S & al fban CaO ura gm ?
(A)749 (B)2g (C)25¢ (D)4g
PART - IV (MATHEMATICS) 9. IV (TTfor)
Straight Objective Type
This section contains (31-45) multiple choice questions. Each question has choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.
9 agfrs oR
39 @ve # (31-45) 93-fadad ued 2| UF U @ 4 fawe (A), (B), (C) den (D) &, o+ & R
TP Gl 2 |
31. If [3(230 + x)]? = 492a04, then a + x is
If§ [3(230 + x)]2 = 492a04 &, A1 a + x B |
(A) 4 (B) 8 (C)12 (D) 16
32. If we write November 8, 1988, as 8.11.88, we see 8 x 11 = 88. How many such days are in 19727
gfe 8 FawiR, 1988, B1 8.11.88 for@r Y ol 89 I8 < & 8x 11=88%8 a1 19723 a¥ # qq faAl &
|1 BrN?
(A)6 (B) 4 (C)8 (C)12
33. The sum of the digits of the number 10" — 1 is 3375. The value of n is
10" — 1 % i@l &1 IIT 33758, A n HT A4 BN |
(A) 337 (B) 375 (C) 335 (D) 3375
a+2 _3a+1
34. The value of —
4x3%-32
3a+2 _3a+1
L~ %M B
4x3%-32
(A)O (B)1 (C)2 (D)3
35. If x = 5_@ , then £x2+ij—(x+lj=
2 x2 X
afy x = 2 V21 [x2+ij— x+lj=
’ X2 X
(A) 21 (B) 18 (C)4 (D)5
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The number of digits in the number N = 212 x 58 is
N =212 x 58 ¥ 3l & F=1 Bl |
(A)9 (B) 10 (C) 11 (D) 20

The radius of a circle is increased by 1 cm. Then the ratio of the new circumference to the new
diameter is

ot g @1 Brean &1 afe 1 cm ge1 faan e | S| uRf Td a1 @1 SguTd A B |

(A)n:3 (B)n:2 (C)m: 1 (D)n:%

A conical cup 18 cm high has a circular base of diameter 14 cm. The cup is full of water, which is now
poured into a cylindrical vessel of circular base whose diameter is 10 cm. What will be the height of
water in the vessel ?

% IHATPHR HY Sl B 18 cm HAT TAT JMER B A 14 cm 8| T U § TR W AT & DI Th
SR Y RT9®T T 10 cm & § STl Ol ®, a1 a¢9 § Ui+ BT R /T 819 2

(A) 11.7 (B) 11.76 cm (C) 1176 cm (D)1.716 cm

If 3 sin® + 5 cosO = 5, then 5sin6 — 3cosO =

I 3 sin® + 5cosd =5, 8 dI 5sind — 3cosO =

(A)2 (B)3 (C)4 (D)5

If x sin45°cos45° + tan260° = sec230° cosec230°, then x =

IfE x sind5°cos45° + tan260° = sec?30° cosec?30° &, dl x =

(A) 10/3 (B) 14/3 (C) 16/3 (D) 1

In the given figure, if ZADE = #/B. If AD = 3.8 cm, AE = 3.6 cm, BE = 2.1 cm and BC = 4.2 cm, then find
the value of DE.

1 fos & afe £ADE = /B <3riar g | af AD = 3.8-em, AE = 3.6 cm, BE = 2.1 cm @21 BC =4.2 cm &,
@l DE &T |19 Sd BN |

B 4.2 cm
(A) 2.8 cm (B) 2.0 cm (C)3.0cm (D) 2.5cm

If the mean of the following data is 50, then find the missing frequency f, and f,

& 12 ARoN @1 Aed 50 B, A g f, g f, IRERAT BT AT B8R

Class interval | 0-20 | 20-40 | 40-60 | 60-80 [80-100( Total
Frequency 17 f4 32 f, 19 120
(A) 28, 24 (B) 24, 28 (C) 20, 32 (D) 32, 20

x and y are real numbers such that 7* — 16y = 0 and 4x— 49 y = 0, then the value of (y — x) is

X TAT y IR<fdd g § afs 7x— 16y =0 qa1 4 —49y =08, dl (y —x) & A9 8°1 |

19 4115 1569
= ©) Sa7= (D)

5
A) — B —_—
( )2 ®) 5 2013 784

/\
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45.
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MNATIONAL TALENT-O-METER
8th Edition

In the adjoining figure. ABC is equilateral AD, BE and CF are respectively perpendicular to AB, BC and
AC. Then Area of DEF
Area of ABC

f& T 7 § ABC ta @°a1g < 8 AB, BC T2 AC %I oIl AD, BE Tl CF IR &= 2| I
DEF ®w1é>1%e
ABCH1a>THd

E
(A) 4:1 (B) 3 : 1 (C)1:3 (D)1:4

In the adjoining figure BAC is a 30° — 60° — 90° triangle. D is the midpoint of AC. The perpendicular at D
to AC meets the line parallel to AB through C at E. The line through E perpendicular to DE meets BA
produced at F. If DF = 54x the x =

f& M o 5§ BAC,30°-60°-90° <1 21 D, ACH A1 fag 8| fdg DS ACR 8 R (& aw
T ST B S fF C &/ S T @ o B AB & HMIR ® B E WR diedl 8| g E¥ o DE W
2 U o9 ST Ol & Sl BA ®1 991 R F WR @ledl § | If& DF = 54/x a9 x =

C
D
60° 5
F A 20
(A) 20 (B) 25 (C) 30 (D) 35

PART - V (MENTAL ABILITY) 9.V @Ry dwan)

Straight Objective Type
This section contains (46-60) multiple choice questions. Each question has choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.
e axjfrs TR
39 @ve ¥ (46-60) sg-Raed yed 2| yd® u & 4 fawe (A), (B), (C) den (D) g, R+ & faw
TP el ¢ |

Directions :(46 to 48) Find the missing term :

e -

46.

47.

q@ IS AT PIT :

-1,-1,5,23,59, ?
(A) 120 (B) 122 (C) 119 (D) 115

HEJ, JGL, LIN, NKP, ?
(A) MOR (B) PNS (C) PMR (D) NPT

/\
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2 3 4
o oD 1D oD
(A) 3.5 ° (Bf 5.0 (C)8.5 (D) 7.0

Directions : (49 & 50) According to a code language, words in column I are written in capital letters. And
in column II their codes are given. The codes in column II are jumbled up. Decode the language
and choose the correct code for word given in each question.

ffder: (497E50) R fRA N S Wi # A & 14 7 o a0 w79 ¥ 579 g A M §, ™y I8 T3¢
S ATE R R o A T o R T vl & SugE I 99 IR IB W TR D T I

PR |

Column1 Column II
FISH zmkj
TEA fir

GAIN kpgf
DOG peh
ROSE cmre
NUT igq
TRAM cvif

49, Code for U is -
R U ford ors &1 8 ?

(A) (B) g (C)a (D)h

50. Code for M is -
R M & ford B o1 8 ?

(A)v (B)c (C)i (D)m
51. Find the angle between the hands of a clock at 20 minute past 7.
7 I9R 20 e W M1 GSAl S 7 BT A DI |
(A) 100° (B) 210° (C) 260° (D) 140°
52. If P $ Q means P is the father of Q, P # Q means P is mother of Q, & P *%Q means P is the sister of Q.
Then howis Qrelatedto NifN#L $ P % Q
(A) grandson (B) granddaughter (C) nephew (D) data inadequate

I PSQBT R P, Qe AT 8, P#Q &1 31 P, Q & A1 & 91 P*Q &1 aef P, Q & 9fe< & a9
Q, N frd yeR T=fud 2 afe N#LS$ P % Q
(A) U (B) ur= (C) wefraT (D) 3N vt &l ®

Directions : (53 to 55) : Six Persons P, Q, R, S, T and U are sitting in a circle facing one another front to
front. P is sitting in front of Q, Q is sitting to the right of T and left of R, P is to the left U and
right of S.

foder : (539 55) 91 Ues A @ E gEer W) oM B
T A P,Q R, S, TAN UT&H gd # T T & 0% 49 fHI Y 93 21 P, Q & A 91 2|
Q. T & I 3R dem R& arfY &R 9o1 8| P, U @ a1 &k T S & <Y 3R 901 § |

53. Who is sitting opposite to R ?
R® 3 AU (M=) &I do1 2 |
(A)P (B)Q (C)S (D)u
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54.

55.

56.

57.
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Who is sitting opposite to S ?
S A% fauwd (A=) B9 Jo7 B |
(A)U B)T (C)R (D)Q

Who is sitting between P and R ?
Pdal R #ed B9 99T B |
(A)S B)T (C)u (D)Q

In Sydney Olympic 2000, the flags of six nations were flown on masts in the following ways. The flag of
America was to the left of the Indian Tricolour and to the right of the flag of France. The Flag of
Australia was to the right of the Indian flag but was to the left of the flag of Japan, which was to the left
of the flag of China. Which two Flags are in the centre ?

(A) India and Australia (B) America and India

(C) Japan and Australia (D) America and Australia

Are sfraffad 2000 #, B < @ TS 9 TSR A HE o | MBI FT Fel, YR ok & arfi eiR
TAT Wi & TS © S MR a7 | MLfern &1 371, IR e & <l 8iR <ifh Sue @ 39 & 9l
R o, O fh I & T & I QIR o | B S IS b H & ?

(A) ARG 3R 3 feran (B) 3WRI®T 3R 9Rd

(C) SITUT 3MR 3R foran (D) 3T iR I feran

At what time between 5 and 6 O’ clock the hands of a clock will make an angle of 18° ?

5701 6 99 & Hed {5 T €] B aFI GeAl  Fed 18° BT BV BT ?
(A) 20 minute past5  (B) 24 minute past5  (C) 25 minute past5 (D) 22 minute past 5

Direction : (58) Out of the four figures (A), (B), (C) and (D), given in each problem, three are similar in a certain

e -

58.

way. However, one figure is not like the other three. Choose the figure which is different from the rest.

(58) <= fag A 4 oAl A9 ¥l D ¥ FAF B 3R b I Al A 3T © A g H 4 A
o w9 ggfa W iR & S9 fam @1 9arsy e ugfa a1fs A 9 srerm 2

12 6 1 16
L E E P
(A) (B) (C) (D)

Directions : (59) In each of the following question, a figure marked (X) is followed by four figures (A),

e -

59.

(B), (C) and (D) which show the possible water images of figure (X). Choose one out of these
four figures which shows the correct water image of the figure (X).

(59) 7F 797 # v& a7 (X) a7 77 &/ 99w geang an fawey Ry 7w 8/ forH @ 3w 38 RAwey
g7 s & ot i dar & 8 oar &9 1 = (X) BT STe—AfafeE &R m?

(X)
) (B) A‘? ©) (D)

/\

®
Resonance Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in

Educating for better tomorrow Toll Free : | 1800 258 5555 | CIN: U80302RJ2007PLC024029

Corp. / Reg. Office : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Roa

d, Kota (Raj.) - 324005
STP-CLASS-X-9



mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx

60.

STaRT

Student Talent Reward Test
MNATIONAL TALENT-O-METER
8th Edition

Monika is 20 weeks elder than Priyanka and Priyanka is 63 days younger than Jyoti. If Jyoti was born
on Sunday then on what day of a week Monika was born.
(A) Saturday (B) Sunday (C) Monday (D) None

At it | 20 9<iE 991 © a1 e, S 9 63 i BIKT € afe sfd &1 911 IfAaR 1 gan &,
1 AwirE B fba & HiTeb B ST g3 AT o1 |
(A) TIfFER (B) IfdaR (C) WrHaR (D) ®Ig &

SECTION - B(BRILLIANCE SECTION) 971§ (fersm )
PART - | (PHYSICS) w11 (Wifos fasm)

Straight Objective Type
This section contains (61-65) multiple choice questions. Each question has choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.

99 TR TR
39 @ve ¥ (61-65) g—Raed yed 2| yd® uF & 4 fawe (A), (B), (C) den (D) g, R+ & faw
TP el T |

61.

62.

63.

A metallic square loop ABCD is moving in its own plane with velocity v in a uniform magnetic field
perpendicular to its plane as shown in the figure. An electric field is induced -

T gTfedd aieR fd ABCD 596 W & O H v 7 9 REgER 39 O & owdd Yo 911 gea
& H W @R el & | fagga e uRa 8 — ?

e e

eU o

)in AD, but not in BC (B) in BC, but not in AD
) neither in AD, nor in BC (D) in both AD and BC
) AD § WR=] BC # & (B) BCH W=y AD # =&l
C)= a1 AD# &R -1 &1 BC H (D) AD @211 BC &1 #

(A
(C
(A
(

A barometer kept in a stationary elevator reads 76 cm. If the elevator starts accelerating up the reading
will be
(A) Zero (B) Equal to 76 cm (C) More than 76 cm (D) Less than 76 cm

Rer forge # <@ @AM 76 cm usdid <ar 21 I fode SR & ok @Ra I &R a1 e &1
Tedid BT
(A) I (B) 76 cm & JA (C) 76 cm & 31fd® (D) 76 cm & FH

In above question if lift move such that the value of g is decreases by 2%.The barometric height of
mercury

(A) Increases by 2% (B) Decreases by 2%

(C) Remains unchanged (D) Sometimes increases and sometimes decreases

/\
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IWRIFT U # IS forre 59 aReg & I Rl 8 % g & A9 # 2% & HH1 o Sl & a1 SRR § UR

P HaATY
(A) 2% T (B) 2% =M
(C) sraRafida &M (D) &4 g7l &+ T

64. A block of mass 2kg slipped up a slant plane requires 300 J of work. If height of slant is 10 m the work
done against friction is

2kg TH DI 90 T TR Fig R o I H IS 300 J A HRAT IS TAT TA B Harg 10 m &,
gy & g fHar T arf § —
(A) 100 J (B) 200 J (C) 300 J (D) zero ()

65. Two charges 8 C and —6 C are placed with a distance of separation ‘d’ between them and exert a force
of magnitude F on each other. If a charge 8 C is added to each of these, the magnitude of force
between them will be-

8 C AT —6 C & &I 3Ma¥i &I ‘d’ I R & T & T d WRER F a1 &1 9 IR H=al 2| I
TS AL § 8 C ALY g & T1a @ S 7ed g1 o1 uRAToT 8Rm—
(A) F/3 (B) 9F /4 (C) 3F/2 (D) 2F/3

PART - Il (BIOLOGY) %T-1I (Sfig fasm)

Straight Objective Type
This section contains (66-70) multiple choice questions. Each question has choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.

4919 IR TR
39 @ve ¥ (66-70) 93— yed 2| % uH & 4 fawe (A), (B), (C) den (D) g, R & faw

TP el T |
66. Double fertilization is a unique feature of :
(A) Bryophytes (B) Angiosperm (C) Algae (D) Gymnosperm
fafyam frferRad & & frder sifgda o 2
(A) STATETS T (B) TR (C) 3ra™ (D) R+
67. Given below are the pairs of disease and causal pathogen. Which one of these is not a matching pair ?
(A) Kala azar-Leishmania (B) Sleeping sickness - Trypanosoma
(C) Malaria - Salmonella (D) Acne - Staphylococci
T R g™ # I[T JAl [JH IO BRI dTel oSG Bl M Y Y T | STH W DA SISl Fal
TEl 872
(A) BTATTAR-SLHTIT (B) frisrq - feoarar
(C) wetRAT — ATHI (D) BT - FCHISATHIDBTS
68. During lack of oxygen in tissues of our body, the pyruvate is converted into lactic acid in :
(A) Mitochondria (B) Nucleus (C) Cytoplasm (D) Ribosome
TR IR & HAD] H ATFAS B 341G 8l A YIgwde, dfded 3d | gRafdd a1 Sl o
(A) ATgSTRIfgaT (B) if¥& # (C) Shaser # (D) Raram #
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69. The group of amphibian plants is
(A) Funaria, Marchantia (B) Marsilia, Horse-talil
(C) Pinus, Cycas (D) Typha, Hydrilla.
SYIER] eUl $T TR ©
(A) RER, Ao R (B) Adiferan, gfd—<d
(C) urg=4, A1gdHd (D) TIS®I, BRfgar|
70. The human made synthetic chemical used in refrigerator is
(A) LPG (B) CFC (C)CH, (D) PVC.
YHIoNeR § YA Ag AT @ §
(A) LPG (B) CFC (C)CH, (D) PVC.
PART - lll (CHEMISTRY) 4RI Il R+ fasm)
Straight Objective Type
This section contains (71-75) multiple choice questions. Each question has choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.
e Txjfrs TR
39 @ve ¥ (71-75) 93-Raed ued 2| s ued & 4 fawe (A), (B), (C) den (D) g, R+ & faw
TP el T |
71. In the extraction of copper from copper pyrites, iron is removed as -
PR TN I HIR & Yo §, R 71 ©9 # g 2ar & —
(A) FeSO, (B) FeSiO, (C) Fe,0O, (D) Fe, 0,
72. Which of the following statements is incorrect ?
(A) An indicator is a substance that gives different colours in different media.
(B) Litmus is soluble in ethanol.
(C) Indicators are strong acids or strong bases.
(D) Litmus is a vegetable extract that can be soaked into paper.
91 9§ 9§ 39 W U I T ?
(A) g 3 gt BId & off - A # i = 1 a2
(B) forewa Yemiger # faera gIam 2 |
(C) ga® Udd 37e AT Y§cl &R BN 2 |
(D) forewd t& gawdfae et 8 R el & g1 dIkal o 9adl ¢ |
73. Steps of a metallurgical process are -
(A) concentration, oxidation, refining (B) concentration, reduction, refining
(C) concentration, and refining (D) washing and reduction
oTq e Tl U B US § —
(A) Ir=0T |, Sffefiasvor | aRRened (B) A=Y, U=, gRengs
(C) =1 3R gReigs (D EIEERERSEEDE
74. Which of the following correctly represents 360 g of water?

(i) 2 moles of H20

(i) 20 moles of water

(iii) 6.022 x 1028 molecules of water

(iv) 1.2044%10%5 molecules of water

(A) (i) (B) (i) and (iv) (C) (ii) and (iii) (D) (ii) and (iv)
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/=1 % ¥ 360 g U weRia fean < w@ar 82
() 2 At 9 H20

(ii) 20 At arl

(i)  6.022 x 10234 & 317

(iv)  1.2044x1025UF & 317

(A) (i) (B) (i) T (iv) (C) (ii) T (iii) (D) (ii) T2 (iv)
75. Dalton’s atomic theory successfully explained
(i) Law of conservation of mass
(ii Law of constant composition
(iii) Law of radioactivity
(iv) Law of multiple proportion
(A) (i), (ii) and (iii) (B) (i), (i) and (iv)
(C) (ii), (iii) and (iv) (D) (i), (ii) and (iv)
STeed & IRA] RIgT &1 el ) S 9ol 2
(i) A {9 WReAV BT H
(ii) JHN FAeE B e
(iii) feqafiar o1 =
(iv) 98 3rgurd &1 |
(A) (i), (ii) T2 (iii) (B) (i), (iii) T2 (iv)
(C) (i), (iii) T (iv) (D) (i), (ii) T2 (iv)
PART - IV (MATHEMATICS) 9. IV (TIfor)
Straight Objective Type
This section contains (76-80) multiple choice questions. Each question has choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.
¥ agfrs yoR
39 @ve # (76-80) d3—fadwad ued 2| udF U @ 4 fawea (A), (B), (C) de2n (D) &, o+ & R
TP A ¢ |
76. The number of values of b for which there is an isosceles triangle with sides of length b + 5, 3b — 2 and
6-bis
b @ FA AMI B FE&T TG DIfY IS fH FAfgag BIgst 3 gomy A% b+5,3b— 23R 6-b 7
(A)O (B) 1 (C)2 (D)3
77. The sides of a quadrilateral are all positive integers and three of them are 5, 10, 20. How many possible
value are there for the fourth side ?
I Al agys &1 I g8 g9 QUi B iR S99 9 dF 5, 10, 20 B, A1 @Rl Yo & "M @t
He fea- 8l ?
(A) 29 (B) 31 (C)32 (D) 34
78. Let (1 +2x)* =a, +ax +ax?+ ... +a,x® Then, 3a, + 2a, + 3a, + 2a, + 3a, + 2a, + .... 2a,,+ 3a,,

equals to :
AT (1+2x)°=a,+ax+a)x2+ .. +a,x08 d 3a,+2a,+3a,+2a,+3a,+2a,+..2a,+3a, 9

BT |

53°-3 53°+3 53" +1 537 -1
(A) (B)

2 2 2 2
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79. lfa=2+3+6 andb=3+3—-4/5 ,then
A a=2+3+56 @R b=3+3-5,a

(A)a2+b?2-4a—-6b=3 (B)a?+b?—4a-6b=5
(C)3a+2b—-ab=9 (D)3a+2b—ab=6
80. Three circles with radii R,, R, and r touch each other externally as shown in the adjoining figure. If PQ is

their common tangent and R, > R,, then which of the following relations is correct ?
I g9 e B R, R, T re U AR @1 918d WY a=d 8 ol o o 9 s mn g1 afe
PQ SWIfTe TR vl & TR, >R, , @ 7/ § 9 319 &1 W 981 § ?

{'U

[‘& a
(AR, —R, =r (B)R, +R,=2r ©) Ri1+Ri2=; (D)L+%=%
SAMPLE -TEST PAPER
ANSWER KEY
clc|Aadhal|D]cCc]| D|D| A |
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